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\ Instructions for Candidatés

1. Write your Roll No. on the top immediately on receipt

* of this .question paper.
© 2. Al questions carry eqnal marks.

3. Attempt all questions and no internal choice in

question number 5

4. Answer may be written either in English or in Hindj
but the same medium should be used throughout the

paper.
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(a) Define Human Resource Management. Qutline 1ts

main functions?

9)

(b) “To be a successful HR professional, one must
have excellent qualities of head and heart.”

Dlscuss the statement. = )
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(c) Write the nature and importance of Human

Resource Management (HRM). .~ . ®)

(d) What do you mean by the work life balance?
Explain the factors that have compelled companies
to institute policies favourmg work-life balance in

-

recent years?
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2. (a) What .is Human Resource Planning? Outline the
steps involved in the Human Resource Planmng

process. . | ' (9)
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(b) Describe three methods of analyzing jobs including
one advantage and disadvantage of each method,

(9)
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(c) “Even though interviews are not reliable, they are
heavily used.” Discuss why this selection device

- still rates very highly when it is known that it is
unreliable. | 3 s 9)

(d) What are the components of an employee Induction
program? What measures should be taken to make

the induction program successful? 9
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3. (a) Why training is needed in an organization? Write
two On-the Job and Off the Job methods of
Training. ; | (9)

(b) Distinguish between Training and Developmeﬁt.
Briefly outline the steps involved in conducting a
training programme in a systematic way. 9)
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(c) Brleﬂy explaln Sen31t1v1ty Tralnlng, Role PlaYIng \
and Job Rotation. ' ()
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understand bvy Apprenticeship and

d t do you . .
iy e iraining? Discuss their merits and

Vestibul )
demerits.
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4. (a) “Management by Objective»is not a technique of

performance appraisal but it denotes a systematlc
' process of performance appralsal L Explaln ‘
~critically. - | SRR L 9)

(b) What do you understand by internal mob111ty and. .
external moblllty? Explain the purpose of job
. changes i T R . 9)
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Varigy mean by compeﬂsatlon Explain the

Actorg that 1nf1uence compensation levels.

)

OPtions ¢ e companies favour stock
| > Spur People to peak performance? (9)
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(a) Ifa superv1sor is aware that one of his employees
_has been under the influence of drugs, which is

| affectmg the. employee’s performance lately, should
the Superv1sor take any action? Should the
employee be paraded before the disciplinary
committee constituted for to mend his ways? Or

ShOUld the employee be glven tlme to mend hlS

rvisor dlSCUSS the
ways? As a supe ’ mora]

n .
implications in this situatio )
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otec on any two of the following:
(b) Write short 1 (4.5%2 = 9)

(i) Employee Retention
(i) HRIS
(iii) Fringe Benefits

(iv) Employee Welfare
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